Efficiency vs dr

efficiency vs AR

0.45

0.35]

0.5

©
»

©
w

—s=— DQM_V0001_R000000001__Global__CMSSW_100ti

—— DQM_V0001_R000000001__Global__

CMSSW_100timeHPTT

1072 107

[ Efficiency vs dr (track,jet) |

§0.05
00.045
=
%0.04
9.035
>
£0.03
o
j5=E).025
)
0.02
0.015
0.0
0.005

1
TP min AR

[y

1072

Efficiency vs pu

50.05
o
9.045
20.04
(]
®.035
=
20.03
0.025
0.02
0.015
0.01
0.005

Ratio

1
AR(TP, jét)

-1

..........

..........

1.0

0.95
2

(=]

: : -
P ) I N ) T Y
: H -
PP PR 2 A Y T T Y
----- PRI 2 FPT AR A S N
: : o 8
----- P P N
A . | |
----- [R— <+
. <+

40 50 60




	Contents
	Page 1


